
To solve this puzzle, you must first solve the crossword,
both figuring out all of the words, as well as what spaces
they go in. Once you’ve completed the crossword, you can
look at the answers that have numbers next to them. For
each number in the sequence, if you “light up” the two
answers they correspond to, you will get a semaphore
position on the crossword. Converting each semaphore to a
letter, and then ordering them by the number in the
sequence gives you “Infrared”

Blinking Lights
Jake Olkin

Sequence   Lights
Acts gloomily 
Conversation in fiction (var.)
Crane constellation
Criminal deception
Dive headlong 
First African American woman 

theoretical astrophysicist (Williams)
“Last ___ In Idaho” (movie) 
Less well done, for a steak 

34 6     More divisible by 2 
Most withered 
My Name Is ___ (TV) 

12  5      Nick DiSalvo’s band (plural) 
3 5 78   Nothing rhymes with ___ 

Ritual repasts 
Shorter with words 
Star sign after Cancer 
The breadwinner is the main income ___ 
The decade of Beanie Babies 
The few. The proud. The ___ (singular) 
The golfers have ___ off 

7    The inverse end of the pencil 
2         To describe something’s meaning 
1          To join the military 

8   To take in, as with food 
4 6     What scientists call sex 

What Westworld is taking 
Women’s dress-like underwear 
Xtort, Track 6 
Zedong follower 

or


